The length of a rectangle is increasing at a constant rate of 8 cm/s and its width is
decreasing at a constant rate of 3 cm/s. How fast, in cm?/s. is the area of the rectangle
increasing at the moment when the length is 20 cm and the width is 10 cm?
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Find the@bsolutd maximum and minimum values of the function f(z) = cosz + sinx

on the interval [0, 7].
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Find the locations {x values) of the inflection points of f(x) = e"f’z. Note that its first
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A six-sided box is to have four clear plastic sides, a wooden square top, and a wooden
square bottom. The volume of the box must be 24 ft3. Plastic costs $1 per ft° and wood
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costs 33 per ft2. Find the dimensions of the box which minimize cost.
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